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03 A B EHGS (XY M) 200,000 200,000
Od343A dANXZ =0l X2
1,000,000 =200 200,000
FEZFMII2HE 8 HFREY 30,000 0 30,000
207 AR H| 30,000 30,000
01 A2 E9H| 30,000 30,000
OREEMI|=HE 22 AR
30,000,000 30,000
T EYE AdHEE It 120,000 0 120,000
201 LB-2AY| 120,000 120,000
2 S==294| 120,000 120,000
Ozl Y o2& I X2
120,000,000& 120,000
HEdRte 2= 2,613,125 1,927,626 685,499
= 731,560
= 168,493
Al 1,713,072
oHEFOol A RS XF 2,613,125 1,927,626 685,499
ax 731,560
T 168,493
Al 1,713,072
HUESIL N K& A 86,000 86,000
301 LEtENZ 86,000 86,000
14 J|Et2 43 86,000 86,000
OIS LI KA 86,000,000 86,000
Aol RIRAY 77,600 77,600 0
307 212+01 A 77,600 77,600
02 QIZHAAAIEER 77,600 77,600
OAIOIZA IR (BADS)
29,100,000 29,100




FA BAEHEGS
B maAne 2
oRlr A0 W AXEs Nd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oariolzors A (SHDR)
48,500,000& 48,500
CHer2 Xt dIEl XIZAHE (RIMEEXI) 60,000 60,000
307 gl2to| & 60,000 60,000
02 QIZHEAAEE X 60,000 60,000
OKN2Us W st el S AHE A
30,000,002 30,000
OHZESD HEUT2IZHAME AR
30,000,000& 30,000
st Xteldlel XA 75,000 135,000 260,000
308 XM SOIE 75,000 75,000 0
12 I8 75,000 75,000 0
OBSHSD HENLATE A
75,000,000 75,000
NSNS FHLNS| Are 80,000 342,400 A262,400
[ 40,000
= 12,000
Al 28,000
301 EtE NS 80,000 342,400 N262,400
[ 40,000
= 12,000
Al 28,000
01 Al EE A ZS(2REXMR) 80,000 342,400 A262,400
OXNSHEZRAFE FEHL
80,000,000 80,000
[ 40,000
= 12,000
Al 28,000
e ®E2.0 NG FEgiie 982,025 1,059,900 NNT7,875
[ 466,560
= 103,093
Al 412,372
307 elztol & 982,025 1,069,900 NT7,875
= 466,560
[ 103,093
Al 412,372
02 2B A HE L 982,025 1,059,900 NTT7,875
OFFE =€ 2.0 NG FEL kel
982,025,000 982,025
= 466,560
< 103,093
Al 412,372
HE FU22A2I00IE TR A 1,212,500 0 1,212,500
= 225,000
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Al 934,100
308 XXM SO0l 1,212,500 0 1,212,500
= 225,000
== 53,400
Al 934,100
11 S [2S0 e YA AS A 1,212,500 0 1,212,500
Oz HHEZZI2IMO0IH M At
1,212,500,000& 1,212,500
= 225,000
== 53,400
Al 934,100
U XGtat HESSNSA 24 ot g9 40,000 0 40,000
207 ARl 40,000 0 40,000
01 HESHI 40,000 0 40,000
OUS Koty ot FHASNS Ly ot A
—E4 40,000,000& 40,000
AEAE 7,186,467 6,219,173 967,294
= 292,092
) 1,307,251
= 1,684,725
Al 3,902,399
EENSIA=) 3,139,288 2,943,467 195,821
= 251,592
7l 1,267,239
= 384,420
Al 1,236,037
aE SEXNEMARAS 200,204 197,300 2,904
Il 100,102
Al 100, 102
307 212+01™ 200,204 197,300 2,904
7l 100,102
Al 100,102
11 AMEISXAEEES 200,204 197,300 2,904
OFAYE SEXNIMAH #=(FF4H)
100, 102,000 » 190 A 100,102
Jl 50,051
Al 50,051
OZLE SENFMAH P=(MEFHEH)
100, 102,000 * 194 2 100,102
Il 50,051
Al 50,051
SEHAHZZIH2IXE 259,744 255,624 4,120
Il 129,872
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Al 129,872
307 gl2tol & 250,744 255,624 4,120
Il 129,872
Al 129,872
02 QB AANSEER 259,744 255,624 4,120
OFAHE SEI Z2 2L (HFHH)
139,416,000 * 11 2 139,416
Jl 69,708
Al 69,708
OFAE sEX 228 2H(MEFAH)
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) 60, 164
Al 60, 164
Stu=s AAS AZME 29,722 28,434 1,288
7l 14,861
Al 14,861
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Jl 14,861
Al 14,861
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Ostn=Es AE N (FFHAHAE
SXHEH X&) 29,722,000& *10H 2 29,722
) 14,861
Al 14,861
QIS SAEAMIIIAMS2S 36,184 35,590 594
= 18,092
Al 18,092
307 212+01& 36,184 36,590 5%4
= 18,092
Al 18,092
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307 212+01 A 1,100,192 1,069,216 30,976
| 550,096
= 165,029
Al 385,067
11 Al SXAMEE R 1,100,192 1,069,216 30,976
o3~ EHEH 29 K& 1,100,192
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375,952,000 * 171 A 375,952
| 187,976
= 56,393
Al 131,583
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= 56,393
Al 131,583
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348,283,000& * 171 2 348,288
J| 174,144
& 52,243
Al 121,901
402 IZERH=0IH 7,800 0 7,800
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Al 3,900
02 QIZEXH2 AL 22 (01 & &) 7,800 0 7,800
O 2EEH SF&H uH(EX&H) 5,000
ooloiA 540,000 *3CH 1,620
| 810
Al 810
odE 1,180,000 *1CH 1,180
| 530
Al 590
OEEH(2H) 800,000& +2CH 1,600
| 800
Al 800
OB FE(2LIH) 300,000 *2CH 600
| 300
Al 300
O 2HHEH SF&H wH(LAIEH) 2,800
OHEE& PC 1,400,000 *2CH 2,800
| 1,400
Al 1,400
Hiday 29 XA(KEA) 95,7838 76,048 19,740
201 L2 | 1,550 880 670
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ol 34 25 (SH &)
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01 At2t2ltl 1,550 880 670
LAFLHEHH HUHAFS 2 9 1,550
O3 58 89 670,000 12 670
ORdyIt 54 440,000 22 880
307 212+01& 83,448 75,168 8,280
11 AMRISXAEEES 83,448 75,168 8,280
OFAEEH 2SN (XHHA) 83,448
@I PN=]=] 27,251,000& 100 £ 27,251
@PN=]=] 27,697,000 * 100 2 27,697
OZAIEH 28,500,000 * 10 £ 28,500
401 AIEHIZ SR OHYI 8,810 8,810
01 Al 8,810 8,810
OBFALANEALE JS2B(01E5E &
XIZAH) 8,810,000& *12] 8,810
402 2I2F X201 & 1,980 1,980
01 QI X2 AL E A (KEHITHR) 1,980 1,980
OFLEEH 223 BHM(KHAEH) 1,980
O&H 495,000 *4 K 1,980
e EadAE NEXNE=E A& 35,100 18,600 16,500
Jl 17,550
= 17,550
301 2eEN= 35,100 18,600 16,500
Jl 17,550
=S 17,550
01 A2 HSHS(RNEERTH) 35,100 18,600 16,500
OEEABAE TATASY
35,100,000& 35,100
Jl 17,550
== 17,550
LEFY 4,047,179 3,275,706 771,473
= 40,500
Jl 40,012
< 1,300,305
Al 2,666,362
FAHE A X 225,432 253,398 N27,966
201 er23| 97,842 97,808 34
01 At2tltl 47,910 51,808 A\3,898
OF2EST g 31,730
Oossl= 5,6002+5, 35504 29,988
Osoltis= 3,8201+383| 12 1,742
ORI23 H4+g & AAYAE
130,000 12 ~42] 6.240
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M mrGNe
&9l Z4E|d (el X )
SA - B BRA(SH) - HRA - of v e HIDE2
O3S 240,000& 20K 4,800
02 =A=-HI 2,250 1,875 375
OHAESBD THTL
15,0002 *502 750
OdE8EAERS Y TAFPY
15,0002 %502 750
OHAYAESSIOT TH T
15,0002 +50& 750
BAESSHAIE XISAHIX X2 73,224 70,560 2,664
) 36,612
Al 36,612
307 @120l & 73,224 70,560 2,664
Il 36,612
Al 36,612
02 LB HAHEE 73,224 70,560 2,664
OSSFLETHAIE AT AL BHXIA
& 73,224
OBHXIXIEAF Q1248 (22)
2,034,000 «3H* 123 73,224
) 36,612
Al 36,612
HAaESBEAL XA K2 (R 14,289 13,627 662
307 21201 & 14,289 13,627 662
02 LB AANHEE 14,289 13,627 662
OFAEHIXIXIZAL AU EEE JI2RYES
2,728,700 34 2 8,187
OUIXIXI=Xt &&= 2,034,000 +3% 6,102
FaddAE 2SR 29 4,000 4,000 0
) 2,000
Al 2,000
307 @201 & 4,000 4,000 0
Il 2,000
Al 2,000
02 LB MAHEE 4,000 4,000 0
OFxETEANE 2?23 2SNE
2,000,000 x29H 2 4,000
Jl 2,000
Al 2,000
44 0=SE0e 28X 71,250 71,250 0
= 28,500
< 12,825
Al 29,925
307 glztol & 71,250 71,250 0
= 28,500
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